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There are no claims regarding — 2102 NIy 3779 PR 9910 TV DWW
the virginity of a deaf-mute and an imbecile, etc.

Overview

The general rule is if someone marries a woman with the assumption that she is a
77102 (a virgin), whose 172103 is two-hundred 11, and it turns out that she is a 792
(whose 772102 is one hundred 177), she (partially) loses her 72103.! Our Xn>>2 teaches
that regarding certain women, the husband cannot claim this 0°91n2 niyv. There is a
dispute between *"w1 and Moon why, regarding these women, 0°2102 nIYY 177 PX.

= HNDINY INDVINYN MYV MN PYLY HNPO MN INT 2090)Pa VIV
“»''"wn explained the reason there is no 2°7n2 niwv here, for if she was clever

enough to claim, she would have claimed, ‘I was forced after the oYIN’;
therefore we claim it on her behalf —

nvoIN asks:
= YV RD YIINT 1999 NI PIAND 79D 297 NY 192V 139107 PHNY 19249 DY

And the %''9 has a difficulty; since she is not claiming anything; how can we

make this doubtful claim (701x1 f07x8N1Wwn) for her, to take away money from her

husband. n901n clarifies his question -
- 995X NT 1191 NPIN JAN 379395 VINY NY MNT HYIIN NN NPINT

For the presumptive status of her body (that she is still a 79102 as she was since

! See footnote # 34, and the very end of this moon.
23" R '
3 See previously 2,2’ and here as well that according to 2X°9»3 127 where she claims that the reason she is not a 77103,
is because she was forced after the 1"017°X, and so it is his loss, she is believed, and he is required to pay her the
entire 721n2. In this case even though the 21 N1 is not (capable of) claiming anything, we claim on her behalf that
(perhaps) 701x1 70RNIwM and she receives the entire 72103.
4 Every woman has a X1py»7 7m0 that she is a 7712 (she was born that way), and until we know otherwise, we
assume that she is still a 771n2. However here she is a 72193, as no one is contesting this, therefore it is not that
obvious to assume that she was a 77102 until after the 101X (as we would otherwise say, if she claimed it), but here
since she is a 77Ww2 there is sufficient reason to assume that perhaps she was a 1712 even before the 1017°% and does
not deserve the (entire) 72102.
5 See previously on X,10 (and in '01M *"wA there). 7°9% VIW MW is an expression indicating that we know something
is certainly not in order. The ox is dead; the owner has a claim on somebody for killing the ox. Here too there is no
question that she is a 72w2. It is up to her to prove when it happened, otherwise we may assume that it happened
before the 1PO1K.
6 The husband is in the possession of the 72113 money. In order to award it to her we need strong proof that 70RnIWn
70181, and since we have no claim from her; what gives us the right to claim it against his 1»n npmn?! It would seem
that this question is on our X3 proper, which states X177 2787 7% ind 7 1130 that we claim it on her behalf.
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she was born), has been weakened; for it is like ‘an ox is slaughtered before

you’, however the status of the money is not weakened; the husband is in the
possession of the money that she wants to take away from him —

mooIn, however, finds support for >"w7o:
= (oW 2,59 0pY) 792N P93 MINT DIVNPN WITAY NINT PN 13529 N2 1110)

However, the >''1 brings a proof to 3''w=p, for the X773 states in 937277 P9
= 37NN 15Y 19231 NININN NN 29 1IN NY

If no scab formed on the wound the rule is 7198757 199 195277 RIZIAT -
= 9M991) 99191 MYV AN NN NAVH DY 1T NIV 291 XY I19IANT W91

And the X7n) there explains that even if the butcher (the buyer) did not yet pay
for the cow, nevertheless it is incumbent on the butcher to bring a proof that it

became a 112°9v while it was in the possession of the seller; otherwise, the buyer
must pay the seller for the animal.

MooIn responds to an anticipated difficulty:
= 119541377 PRIy YN 29 Y9197 XN

And this which >wR 29 explained the 71w in 99727 P79 -
= 7N NY2ND ANN HY NraN N33 NIV PP Na PPT

That if she had blemishes and was still in her father’s house, the father must

" The case there is where one bought a cow and slaughtered it, and a needle was found in the stomach which was
perforated through and through, which rendered the animal a 79°7v. If the perforation occurred before the sale, the
seller is obligated to reimburse the buyer. The rule is if the wound formed a scab, it is certain that it took place (at
least) three days prior, so if the sale was within three days of the nvnw, we know that it became a 7971 while in the
possession of the seller and he is required to reimburse the buyer.
8 The seller need not reimburse the buyer unless he can somehow prove that the perforation of the needle took place
before the sale.
 We see here that even though it is a "7°9% vIMw N, the animal is certainly a 79w (like the woman is certainly a
721w3) and the buyer (who did not pay yet) has the 1n npn (like the husband); the only question is when did this
happen, which no one knows (same as here), and we see there that the 1vn npi is not sufficient and we make him
pay, similarly here too the 11 npin1 is not sufficient and he has to pay her the full 712103. The reasoning is the same in
both cases; one who buys an ox must pay for it (unless he can prove he bought a 79'71), one who marries a woman,
we assume she is a 12102 and he owes her a 7212 n2103, unless he can prove she was a 7232 before the 1°017K.
10x,.
' x 7y, The mawn there reads; 1997 T 72 1°7 SOIRNIWAY PRI X2 I 2RI AR 1°22 77% PRI 72 v (RW™)
MVD 1P P P01 19R 7RI 72 17 0IRNI ROW TV ORD X077 IR HYan Hyan mwah 70131 (89°0) 137w onnon. The case
there is where man married a woman and he found blemishes (7°»12) on her and he does not want to have X1 with
her. If we know that she had the blemishes while she was in her father’s house (after the 1°017°X) and we are not sure
whether they were there before or after the 17017, (and the father wants that the husband, who does not want to have
PR°1 with her, pay the 721n2), the father must prove that the blemishes happened after the 1°017°X, however once she
entered her husband’s domain (and he wants to divorce her), he has to prove that it happened before the 1"017°R, if he
does not want to pay the 721n2.
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prove that the blemishes occurred after the 1°017°X; so W& 17 explained -
= 799299 N3N NIV 129992 NAND NI N

The first case in the 71wn is comparable to where one says, ‘you owe my father a

ma’; the X290 is comparable to a case where one says, ‘you owe me a 71%’. This

concludes the citation from the X713, MDOIN continues -
= BINVNYY DIDY YNPWNTI 1Y 193 NNIYY Y9327 DYLVN 13ND

It is not on account of the reasoning, as would seem superficially, that by °92

Nnen, the 592 is stronger -
= 15991 1Y 19290 Y9977 AVYP MN 19 ONT

For if indeed that is the reasoning (on account of X»w1 "12), there is a difficulty,

for how can we claim it on her behalf [here] -
- 7953 NANY 13 N D909 10NN W97 NN

Rather the difference between the X7 and the X5°0 there, is as >''w9 explained

there, the X2 is like a case where one claims, ‘you owe my father a 717’ -
= 183N HY 10192 NI NAININT 179N2T 9NN NPIN 211 KXY ANN 20T

For regarding the father, the 77 np of his daughter is not effective, for by

1POYR the 7712102 goes to the father -
= 195951 AINN NPIN 23NN NPT YDT 7192 %Y NI ROYD

However, the 820 is like ‘you owe me a m»’; so, regarding the wife, her npn
T is effective to collect her 71> -

12 When she is still 77ax n°22 as an 701X, the 721> belongs to the father (if she is a 77w3). Therefore, it is like one
who is claiming, ‘you owe my father a 71’.
13 Seemingly the answer of X"7 is still not clear; what difference is there between 772 XaX> 71 or 77°2 *% 7. One
may have assumed that the difference is in X1 "2, as MvOIN continues to explain and negate.
14 In the x9°0, where she is the claimant (the 72105 payment goes to her), she is a ™3, for she knows for sure that the
71 happened after the 101X, and the husband is a X»w, all he can claim is perhaps it happened before the 77017°X,
therefore we rule that 7°87 X°277% 1°%¥, otherwise she receives the 712103, since 77y 72 8awY 2. However, when she is
2K N3, the claimant for the 1"017°R nN21N3 is the father, who also does not know for sure when the 12 happened,
only she knows, and her "2 is irrelevant since she is not the claimant, therefore it is a 2w X»w, and since the father
is the X°¥, therefore 7°%7 X°277% ar:1 Yy, [This is similar to 772 XaX? 711, where the claimant is not sure that the m>
(still) owes money to his (deceased) father.] However, m»oin negates this explanation.
15 The w"w" amends this to read 8377 (instead of ¥377). There by the 12, we say if the claimant is not a ™2, he cannot
collect (even though the 771 np1m tells us that the 11 happened later [after the 1P017°X]), so why is it that here there
is no 0°71n2 niw (and she collects the 7121N2), since there is no *2 niwwv (only M1 npi). This proves that &npwy 12
does not play a role in determining her status.
1639 7" 2.
17 She was born without blemishes, this 7P normally remains in effect until the time we know for sure that it
changed, therefore we postpone the appearance of the 1211 as long as possible.
18 The claimant is the father, the 71 is by the daughter (see footnote # 17), we cannot apply the 711 of the daughter
to the claim of the father.
19 The same is here that her 7137 npin that she was born a 7703 is effective that we postpone the time of her
becoming a 11772 as much as possible and we claim 701R1 TOIRNIWA.
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- 20057 99NP Y12 DYV INT YISY 7PN 1)

And indeed, it is necessary to explain it in this manner that the difference

between the X¥°7 and the X9°0 is not on account of 77V 72 Xawn *72), for if the

reason what he is saying there (that she is believed 19¥2 n°22) is on account of

9 .

= 1999 N2 1T NDINMWYNT NORI N¥AND ANN DY NAN 5922 NTIYT MNP INNIN

Why does the 71wn rule that when she is still 77928 nsa3, the father must bring
proof that the "2 came after the 101N -

- 59 593 99N 1999 IR NY2NY 98 INNPN

Why does he need to bring proof, since the father claims, I am sure the p» came

later -
= 2295 215493 453N AN 192N 1IN N2ANY 72987 ynYn )y boav

For it seems that the father must always bring proof in any event, even if the
father claims 5% 2. This concludes >"w».

moon offers his explanation why 2°21n2 Ny 137 PX:
= N 228 N0 NHPINAY 29Y DIDINA MYV JNY PPNT XN YIDY NN PNYY 13%39D)

And the »''1 prefers to explain what it states here that 29102 nipw 3% 8, that is
because she is presumed to be a y¥ n>m -

Moo responds to an anticipated difficulty:
= 2HVaNM V1IN 123 1NDIDT 2) HY IN)

And even though that all other women are also prone to be struck, so why is there
0°71n2 Nww by them and not by 131 nwanA. NMHOIN responds -

- \Y N9 10V 2539nND X911 DO9IN NIYY JNY U BIWI INY DYPN Yan
Nevertheless, regarding other women there is 2°91n2 nipw against them, since
they do not claim that they are y¥ noy» -

20 Previously, mooin negated this explanation (of Xaw *32), since it is in contradiction with our X3 here (see
footnote # 15). Now mooin is explaining that it cannot be the explanation there, for it is negated by the X7n3 there.
2l The mwn states without qualification, that 7°a8 n°22 the father must bring proof. It is possible and just as likely
that the father knows when she received the blemishes, and even in that case, he still needs to bring proof. If the
reason is 7°7¥ *13, why should he need to bring proof when he claims »72?!
22 If, however, the reason the father needs to bring proof is because the nan npin is ineffective for the father, it is
understood that it makes no difference whether he claims >72 or not. The deciding factor is the n273 npin.
23 A yv nomn (hit by wood) refers to a woman who lost her 22102 due to being struck in that area but not because of
intimate relations. We claim on her behalf that the reason she has no 27102 is because she is a y¥ nowm, but not
because she was 77¥21 (either before or after the 1017R). [There is a dispute what is the 72103 of a yv now. According
to n" it is o»n&» (like a 77103), and according to the 1327 it is a 711 (like an 7m9R).] See ‘Thinking it over’ # 1.
2 See 2,15.
% See ‘Thinking it over’ # 2.
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= MHINYI Y NN NPINA 29N 81 XYY NIV HYWIN 79N Yan
However, these vy nwan, who cannot claim anything, we assume that they
are married with the presumptive status that they are y¥ nawa.

mooIn supports his view based on a (different) X077

- N99922 259599 1350493 XY ©2990 21927 AN 19
And so too it is apparent that the reason why 2°71n2 ni1vv on% X is as Moo
explained it that they are y¥ no>¥ npma (but not like >"w that we claim?’ on their

behalf 701X 70XNIWN), since in most texts, the previous XnNv912 does not state (as
it does state in our text) 2°7102 NIVL 17172 W -
= NI 0P 1Y W HINDIND NVIYNI HYIND NON

Rather that Xn»12 reads, ‘the nw=n and the 7uw and the n 1798 have 23p’, but no

more, meaning -
— 0°99N2 MYV 1NY YW D990 2992 21N PN

That in most texts it is not written '27%In2 NIy 3% W', as it is written in our text -
- D37 119 Y MMNRDTIT Y P19 PN 19539 W)

So, if we assume this X07°3, according to the >''9p the contradiction between the
mn»11 is properly understood, for since the first Xn>72 states, ‘they (the nwan

21 VW) receive 1P, therefore -
= 284y N9 NPINA INY 1%2WN XY NNON

It is evident that we do not consider them as presumably y¥ N>, but the second
Xn>>12 which states 029102 NIvY 377 PR assumes that they are y¥ n2wm npma (as the °"3 explained
above?) -

- 179 19%3UN MYINA NPINA 393 NN TPI97 INI DIVNPN WINaY Yan

However, according to >''w9p (if we assume this ¥07°3) what is the contradiction
between the two min»13, the first Xn>92 assumes them to be M?na (therefore they

receive 01), and the second Xn>>72 here also considers them n»na npia -
= NOIN) NOINNMIVNT NHYD 1399N NNT

For since we say 2°21n2 n1vv 172 1°X that means they receive the entire 712102, for we

now say that 770I1R1 JTOINNIWR that she is 77902 NP3, just like the first Xn*>3; so, what is
the contradiction?!*°

26 On this 71my, where it states 191 DWIAT AN
27 See footnote # 19.
28 mpon apparently maintains that a y¥ n3% does not receive O3p.
2 See (the text by) footnote # 23.
30 However, according to the X0 in our text (which is »"w9 no7), the contradiction is obvious; the first X012
stated 22102 navw 1% v and the second X112 stated 2°7102 NIVL 179 PX.
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nvoIN asks:
= YN RY ININT PN 13929 ¥I1929Y AVWHH DNAN 12 PYNY 1%

And the R''2w9 asked, according to the >''22, why the X723 did not answer the

contradiction between the two mn>172 as follows -
= (5,2 oy) NP PI92 HIRT PINN 2290 DN MYV 1NY PN NPT N

This Xn»=2 which states, 2°9n2 nww 3% P8 (for she is yy nowm npina), is

according to »''%, who maintains in the first 299 that by -
= 3105NM N2 9991 KXY P2 Na 9991 Pa \Y Nom

v n>1, whether he was aware of it or whether he was not aware, her 72102 is

two hundred 1 (like a 77n2) -
- 3931 1NN Y9N 1929 32059902 MYV JNY Y 2INPT N

And the Xn™ 3, which states, 299102 niyw 7% w, is according to the 3129, who
maintain that the 772302 of a yv N> is one hundred m» (like an 725%) —

mooIN anticipates a possible solution to this question:
- 335199)5RT NO2YT HYIN 1INPT DIVN NN )

And if you will say, the reason the X713 does not offer this answer, is because the
Xn»12 teaches, ‘a @ and a "YW and an NNYX receive 0P and NIL I WO
0°71n2’. We assume that the rule by nwn is similar to the ruling of an nvv%»x —

mooIn rejects this solution:
= 991239 NNAIND NTPDIN KD NN NNVN TN DY NN

Since perforce even the n°179"°} does not lose her ;713113 entirely -
= YWINY 529 RN HNIIN) 129 NN WUNT HYY 29 XNT

Since nww 29 who answered here, ‘this Xn*71 is according to 3''9, and this Xn»12

1s according to ', so this very same " -
1133 NN 1Y YW NDIPYA NNENN NN NPIND NI (3,0 97 NP P92 PY X2

31 The >" maintains that the "1 WA is ¥ N2 NPIMa. A v¥ nom, according to »" receives the entire 72103, therefore
the husband has no claim, for we assume she is a Y¥ N2 and receives 2 NRH.
32 It is seemingly apparent that the X"2w" is asking on the >, according to our X07° (but not according to the no7%
0°90:71 211 (°"917 noY). See (however) X"wAan.
33 When the husband claims that she is not a 7713, so even if we will assume that she is a y¥ nowm, she will not
receive the entire 712113, for a Y¥ N2 receives only a m1n.
3* The 0712 N by an n°17»X (that husband thought she was a 7912 and it turns out that she is a 7213), will cause
her to lose the entire 771213 (the accepted ruling is 995 72105 77 PR 72192 NRYAN 72102 NPa 7013). We will not assume
that she is a y¥ n2w, for she is intelligent and would have said that she is a y¥ n>m (unlike a 770w nwAn). Therefore,
since by n°no»X, she has no 72113, we could not have answered that the X012 which stated nivv 7% w* 121 nwann
0'71n2 means that she will only lose a man (and receive a min), because since an N°11?°X receives nothing, the same
should apply to a nwn.
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Maintains in the first P25 that if he took her in, presuming she is a 7102 and it
turned out she is a ;7pa, she has a ;71 72100.%

Summary
According to "wn the reason a 121 nw1n has no 0°7IN2 NI, is because we claim on

their behalf 701R1 70IXRNIWH, while according to NMooIN the reason is that she is
presumed to be a yv nowm.

Thinking it over
1. Why is it that after the >"3 brings proof to >"w1p, the "1 disagrees’® and offers a
different explanation?!

2. mooIn writes that ‘regular’ woman have 0°91n2 nivv (and we do not assume that
they are y¥ nom), since they did not say *1X y¥ now.>” Does mooIn mean that they
should have said it (to their husbands) before the PXw»1, or that they should have
said it when the husband realized that she is not a 79102238

35 Therefore, nww 27 could have given the s'X"2w1 suggested answer, since according to w"3, both a nwAn and an
19K, have a 711 72103 by 2°2102 nawvw. MooIN does not offer an answer to the s'%"2w" question on the *".
36 See [text by] footnote # 23.
37 See footnote # 25.
38 See "7 XD MWK 2n T mwn.
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